Week 8 Assignment 2 Rubric

	CATEGORY
	EXCELLENT – above expectations 
	GOOD – met expectations 
	FAIR – below expectations 
	POOR – significantly below expectations or missing
	SCORE

	Monthly volume to break even
(6 points possible)

	Answer is accurate, and all calculations needed to obtain the accurate answer are shown.
(6 points)


	Answer is accurate, but no calculations needed to obtain the accurate answer are shown. 
(5 points)

	Answer is inaccurate, but calculations needed to obtain the accurate answer shows a depth of knowledge to obtain the correct answer. 
(4 points)
	Answer is inaccurate and missing calculations needed to obtain an accurate answer.
(0 points)

	     

	Monthly volume need to break even at desired profit level
(8 points possible)


	Answer is accurate, and all calculations needed to obtain the accurate answer are shown.

(8 points)


	Answer is accurate, but no calculations needed to obtain the accurate answer are shown. 

(7 points)

	Answer is inaccurate, but calculations needed to obtain the accurate answer show a depth of knowledge to obtain the correct answer. 

(6 points)

	Answer is inaccurate and missing calculations needed to obtain an accurate answer.

(0 points)

	

	Volume needed to break even at new charge and no profit
(8 points possible)


	Answer is accurate, and all calculations needed to obtain the accurate answer are shown.

(8 points)


	Answer is accurate, but no calculations needed to obtain the accurate answer are shown. 

(7 points)

	Answer is inaccurate, but calculations needed to obtain the accurate answer show a depth of knowledge to obtain the correct answer. 

(6 points)

	Answer is inaccurate and missing calculations needed to obtain an accurate answer.

(0 points)

	

	Volume needed to break even with additional labor

(8 points possible)

	Answer is accurate, and all calculations needed to obtain the accurate answer are shown.

(8 points)


	Answer is accurate, but no calculations needed to obtain the accurate answer are shown. 

(7 points)

	Answer is inaccurate, but calculations needed to obtain the accurate answer show a depth of knowledge to obtain the correct answer.
(6 points)

	Answer is inaccurate and missing calculations needed to obtain an accurate answer.

(0 points)

	

	Instructor comments:      
	
	

	Total Score (30 possible points):
	      points
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